

**BOUNDS FOR THE SUMS OF ZEROS OF SOLUTIONS OF  
 $u^{(m)} = P(z)u$  WHERE  $P$  IS A POLYNOMIAL**

TING-BIN CAO, KAI LIU AND HONG-YAN XU

ABSTRACT. The main purpose of this paper is to consider the differential equation  $u^{(m)} = P(z)u$  ( $m \geq 2$ ) where  $P$  is a polynomial with complex, in general, coefficients. Let  $z_k(u)$ ,  $k = 1, 2, \dots$  be the zeros of a nonzero solution  $u$  to that equation. We obtain bounds for the sums

$$\sum_{k=1}^j \frac{1}{|z_k(u)|} \quad (j \in \mathbb{N})$$

which extend some recent results proved by Gil'.

1. INTRODUCTION AND MAIN RESULTS

It is well known that Nevanlinna theory has appeared to be a powerful tool in the theory of ordinary differential equations in the complex plane  $\mathbb{C}$ . For the linear differential equation

$$(1) \quad f^{(k)} + A_{k-1}(z)f^{(k-1)} + \dots + A_1(z)f' + A_0(z)f = 0 \quad (k \geq 2)$$

whose coefficients  $A_0(z), \dots, A_{k-1}(z)$  are entire functions, and  $A_0(z)$  is not equal to zero identically, it is well known that all solutions of (1) are entire functions, and that if some coefficients of (1) are transcendental then (1) has at least one solution with order  $\rho(f) = \infty$ . The active research of the asymptotic distribution of the zeros of linear differential equations in the complex plane was started by Bank and Laine [1]. They investigated the equation  $f'' + A(z)f = 0$  with an entire function  $A(z)$ . We refer to the book [11] and some recent works [2, 3, 4, 5, 6, 12, 13, 14, 16] for the literature on asymptotic distribution and counting functions of zeros, and the growth of solutions of complex differential equations.

At the same time, bounds for the zeros of solutions are very important in various applications. Recently, Gil' [10] obtained some results on the bounds of the sums of the zeros of solutions for the second order differential equation  $u'' = P(z)u$  with polynomial coefficients.

---

2000 *Mathematics Subject Classification.* Primary 34M05, 34M10, 34C10, 34A30.

*Key words and phrases.* Complex differential equation, zeros of solution, polynomial.

This work was supported by the NNSF (No. 11026110), the NSF of Jiangxi (No. 2010GQS0139, 2010GQS0144, 2010GQS0119) and the YFED of Jiangxi (No. GJJ10050, GJJ11043, GJJ10223) of China.

In this paper, we consider the differential equation

$$(2) \quad u^{(m)} = P(z)u \quad (m \geq 2),$$

where

$$P(z) = \sum_{k=0}^n c_k z^k \quad (c_n \neq 0)$$

is a polynomial of degree  $n$  with in general complex coefficients. Denote by  $z_k(u)$ ,  $k = 1, 2, \dots$  the zeros of the solution  $u(z) = \sum_{k=0}^{\infty} u_k z^k$  of (2) with multiplicities taken into account. Without loss of generality we assume that the set of the zeros of  $u$  is infinite. If  $u$  has a finite number  $l$  of zeros, then we put

$$\frac{1}{z_k(u)} = 0 \quad (k = l + 1, l + 2, \dots).$$

Rearrange the zeros of  $u$  in order of increasing modulus:  $|z_k(u)| \leq |z_{k+1}(u)|$  ( $k = 1, 2, \dots$ ). Put

$$\mu(P) := \exp \left[ \sum_{j=0}^n \frac{|c_j|}{j+m} \right].$$

We obtain the following theorem which is an extension of Theorem 1.1 from [10].

**Theorem 1.1.** *If  $u(0) \neq 0$  and  $\deg(P) = n \geq m - 1 \geq 1$ , then*

$$\sum_{k=1}^j \frac{1}{|z_k(u)|} \leq \left[ \left( \sum_{k=0}^{m-1} \left| \frac{u_k}{u_0} \right|^{n+m\sqrt{k!}} \right)^2 \cdot \frac{(m+1)^2}{4(m-1)^2} \mu^2(P) - 1 \right]^{\frac{1}{2}} + \sum_{k=1}^j \frac{1}{n+m\sqrt{k+1}}$$

holds for any  $j \in \mathbb{N}$ .

Here and below in this section, we take  $\gamma := \frac{1}{n+m}$ . Denote by  $\nu(u, r)$  ( $r > 0$ ) the counting function of the zeros of  $u$  in  $|z| \leq r$ . We can get the following corollary from Theorem 1.1 above and Corollary 2.2 from [10] (see also [7]). This is an extension of Corollary 4.1 in [10].

**Corollary 1.1.** *Under the hypothesis of Theorem 1.1, with the notation*

$$\tilde{\eta}_j(u) := \frac{j(1-\gamma)}{\left[ \left( \sum_{k=0}^{m-1} \left| \frac{u_k}{u_0} \right| (k!)^\gamma \right)^2 \cdot \frac{(m+1)^2}{4(m-1)^2} \mu^2(P) - 1 \right]^{\frac{1}{2}} (1-\gamma) + (1+j)^{1-\gamma} - 1},$$

the inequality  $|z_j(u)| \geq \tilde{\eta}_j(u)$  holds and thus  $\nu(u, r) \leq j$  for any  $r \leq \tilde{\eta}_j(u)$  ( $j = 1, 2, \dots$ ).

Furthermore, put

$$\tilde{\vartheta}_1 = \left[ \left( \sum_{k=0}^{m-1} \left| \frac{u_k}{u_0} \right| (k!)^\gamma \right)^2 \cdot \frac{(m+1)^2}{4(m-1)^2} \mu^2(P) - 1 \right]^{\frac{1}{2}} + \frac{1}{2^\gamma}$$

and  $\tilde{\vartheta}_k = \frac{1}{(k+1)^\gamma}$  ( $k = 2, 3, \dots$ ). Let  $\zeta(\cdot)$  be the Riemann Zeta function. Theorem 1.1 above and Corollary 2.3 from [10] (see also [7]) imply the following result which is an extension of Corollary 4.2 in [10].

**Corollary 1.2.** *Let  $\phi(t)$  ( $0 \leq t < \infty$ ) be a continuous convex scalar-valued function, such that  $\phi(0) = 0$ . Then under the hypothesis of Theorem 1.1,*

$$\sum_{k=1}^j \phi(|z_k(u)|^{-1}) \leq \sum_{k=1}^j \phi(\tilde{\vartheta}_k) \quad (j = 1, 2, \dots).$$

In particular, for any  $p \geq 1$  and  $j = 2, 3, \dots$ ,

$$\sum_{k=1}^j \frac{1}{|z_k(u)|^p} \leq \sum_{k=1}^j \tilde{\vartheta}_k^p$$

and therefore

$$\sum_{k=1}^{\infty} \frac{1}{|z_k(f)|^p} \leq \left( \left[ \left( \sum_{k=0}^{m-1} \left| \frac{u_k}{u_0} \right| (k!)^\gamma \right)^2 \cdot \frac{(m+1)^2}{4(m-1)^2} \mu^2(P) - 1 \right]^{\frac{1}{2}} + \frac{1}{2^{p\gamma}} \right)^p + \zeta(p\gamma) - 2^{-\gamma} - 1$$

provided that  $p\gamma > 1$ .

Finally, in the light of Theorem 1.1 above and Corollary 2.4 from [10] (see also [7]) we obtain the following result which is an extension of Corollary 4.3 in [10].

**Corollary 1.3.** *Let  $\Phi(t_1, t_2, \dots, t_j)$  be a scalar-valued function with an integer  $j$  defined on the domain*

$$-\infty < t_j \leq t_{j-1} \leq \dots \leq t_2 \leq t_1 < +\infty$$

and satisfying the condition

$$\frac{\partial \Phi}{\partial t_1} > \frac{\partial \Phi}{\partial t_2} > \dots > \frac{\partial \Phi}{\partial t_j}$$

for  $t_1 > t_2 > \dots > t_j > -\infty$ . Then under the hypothesis of Theorem 1.1,

$$\Phi\left(\frac{1}{|z_1(u)|}, \dots, \frac{1}{|z_j(u)|}\right) \leq \Phi(\tilde{\vartheta}_1, \dots, \tilde{\vartheta}_j).$$

In particular, let  $\{d_k\}_{k=1}^\infty$  be a decreasing sequence of positive numbers with  $d_1 = 1$ . Then

$$\sum_{k=1}^j \frac{d_k}{|z_k(u)|} \leq \left[ \left( \sum_{k=0}^{m-1} \left| \frac{u_k}{u_0} \right| (k!)^\gamma \right)^2 \cdot \frac{(m+1)^2}{4(m-1)^2} \mu^2(P) - 1 \right]^{\frac{1}{2}} + \sum_{k=1}^j \frac{d_k}{(k+1)^\gamma}$$

holds for  $j = 2, 3, \dots$

## 2. PRELIMINARIES AND SOME LEMMAS

Consider the entire function

$$(3) \quad f(\lambda) = \sum_{k=0}^{\infty} c_k \lambda^k \quad (c_0 = 1)$$

with in general complex coefficients and finite order  $\rho(f)$ . Denote by  $z_k(f)$ ,  $k = 1, 2, \dots$  the zeros of  $f$  with multiplicities taken into account. Similar discussion as in the first section, without loss of generality we assume that the set of the zeros of  $f$  is infinite. Enumerate the zeros of  $f$  in order of increasing modulus:  $|z_k(f)| \leq |z_{k+1}(f)|$  ( $k = 1, 2, \dots$ ). The entire function  $f$  can be rewritten in the form

$$(4) \quad f(\lambda) = \sum_{k=0}^{\infty} \frac{a_k \lambda^k}{(k!)^{\tilde{\gamma}}} \quad (\tilde{\gamma} \in (0, 1), \lambda \in \mathbb{C}, a_0 = 1).$$

Assume that

$$(5) \quad \Theta(f) := \left[ \sum_{k=1}^{\infty} |a_k|^2 \right]^{\frac{1}{2}} < \infty.$$

The following result is proved by Gil' in [7] (see also in Section 5.1 from [9]).

**Lemma 2.1.** [7] *Let  $f$  be defined by (3) and condition (5) hold. Then*

$$\sum_{k=1}^j \frac{1}{|z_k(f)|} \leq \Theta(f) + \sum_{k=1}^j \frac{1}{(k+1)^{\tilde{\gamma}}} \quad (j = 1, 2, \dots).$$

We below extend a result of Gil' (Lemma 3.1 in [10]).

**Lemma 2.2.** *Let  $n \geq m - 1 \geq 1$ . A nonzero solution  $u$  of equation (2) can be represented as*

$$u(z) = \sum_{k=0}^{\infty} \frac{\nu_k z^k}{\sqrt[n+m]{k!}},$$

where the numbers  $\nu_k$ ,  $k = 0, 1, \dots$  satisfy the condition

$$\sum_{k=0}^{\infty} |\nu_k|^2 \leq \left( \sum_{k=0}^{m-1} |u_k|^{\sqrt[n+m]{k!}} \right)^2 \cdot \frac{(m+1)^2}{4(m-1)^2} \mu^2(P).$$

*Proof.* It follows from the Wiman-Valiron theory (see page 281 from [15]) that any nonzero solution  $u$  of (2) is of order  $\rho(u) = \frac{n+m}{m} < \infty$ . Put  $u(z) = \sum_{k=0}^{\infty} u_k z^k$ , and then (2) yields

$$\sum_{k=m}^{\infty} k(k-1)\cdots(k-m+1)u_k z^{k-m} = \sum_{k=0}^{\infty} \left( \sum_{j=0}^k c_{k-j} u_j \right) z^k.$$

Here and below we put  $c_j = 0$  for  $j > n$ . It follows from the above equality that

$$(k+m)(k+m-1)\cdots(k+1)u_{k+m} = \sum_{j=0}^k c_{k-j} u_j.$$

Take  $\gamma := \frac{1}{n+m}$  and  $\nu_k := (k!)^\gamma u_k$ . Then we have

$$(6) \quad (k+m)(k+m-1)\cdots(k+1) \frac{\nu_{k+m}}{[(k+m)!]^\gamma} = \sum_{j=0}^k c_{k-j} \frac{\nu_j}{(j!)^\gamma}.$$

We now take into account two cases as follows.

In the case  $k > n$ , it follows from (6) that

$$\begin{aligned} & (k+m)|\nu_{k+m}| \\ & \leq \frac{[(k+m)!]^\gamma}{(k+m-1)(k+m-2)\cdots(k+1)} \cdot \left( \sum_{j=0}^{k-n-1} \frac{|c_{k-j}||\nu_j|}{((j!)^\gamma)} + \sum_{j=k-n}^k \frac{|c_{k-j}||\nu_j|}{((j!)^\gamma)} \right) \\ & = \frac{[(k+m)!]^\gamma}{(k+m-1)(k+m-2)\cdots(k+1)} \cdot \sum_{j=k-n}^k \frac{|c_{k-j}||\nu_j|}{((j!)^\gamma)} \quad (c_j = 0 \text{ for } j > n) \\ & \leq \frac{1}{(m-1)(k+1)} \cdot \left( \frac{(k+m)!}{(k-n)!} \right)^\gamma \cdot \sum_{j=k-n}^k |c_{k-j}||\nu_j|. \end{aligned}$$

Using the inequality between the arithmetic and geometric means and similar discussion as in [10],

$$\begin{aligned} \left[ \frac{(k+m)!}{(k-n)!} \right]^\gamma &= [(t+1)\cdots(t+n+m)]^\gamma \quad (t := k-n) \\ &\leq \left( \frac{(n+m)(t + \frac{n+m+1}{2})}{n+m} \right)^{\gamma(n+m)} \\ &= k + \frac{m-n+1}{2} \\ &\leq k+1 \quad (n \geq m-1). \end{aligned}$$

So if  $k > n$ , then

$$(7) \quad (k+m)|\nu_{k+m}| \leq \frac{1}{m-1} \sum_{j=k-n}^k |c_{k-j}||\nu_j|.$$

For the other case where  $k \leq n$ , it follows from (6) that

$$(8) \quad (k+m)(k+m-1)\cdots(k+1)|\nu_{k+m}| \leq [(k+m)!]^\gamma \cdot \sum_{j=0}^k |c_{k-j}||\nu_j|.$$

Again by the inequality between the arithmetic and geometric means,

$$\begin{aligned} [(k+m)!]^\gamma &\leq \left[ \frac{(k+m)(0 + \frac{k+m+1}{2})}{k+m} \right]^{\gamma(k+m)} \\ &= \frac{k+m+1}{2} \quad (k \leq n). \end{aligned}$$

Thus (8) gives that

$$(k+m)|\nu_{k+m}| \leq \frac{1}{m-1} \cdot \frac{k+m+1}{2(k+1)} \sum_{j=0}^k |c_{k-j}||\nu_j|.$$

If  $m-1 \leq k \leq n$ , then we also have inequality

$$(9) \quad (k+m)|\nu_{k+m}| \leq \frac{1}{m-1} \sum_{j=0}^k |c_{k-j}||\nu_j|.$$

If  $0 \leq k < m-1 \leq n$ , then  $\frac{k+m+1}{2(k+1)} \leq \frac{m+1}{2}$ , and thus

$$(10) \quad (k+m)|\nu_{k+m}| \leq \frac{m+1}{2(m-1)} \sum_{j=0}^k |c_{k-j}||\nu_j|.$$

Similar discussion as in [10], by (7), (9)-(10) and the comparison theorem (see section 1.6 in [8]), we have  $|\nu_j| \leq w_j$ , where  $w_j$  is a solution of the equation

$$(11) \quad (k+m)w_{k+m} = \frac{m+1}{2(m-1)} \sum_{j=0}^k |c_{k-j}|w_j$$

with  $w_0 = |\nu_0|$ ,  $w_1 = |\nu_1|$ ,  $\dots$ ,  $w_{m-1} = |\nu_{m-1}|$ . Put

$$(12) \quad F(z) := \sum_{j=0}^{\infty} w_j z^j.$$

Then

$$F'(z) = \sum_{j=1}^{m-1} jw_j z^{j-1} + z^{m-1} \sum_{k=0}^{\infty} (k+m)w_{k+m} z^k.$$

Note that  $c_j = 0$  for  $j > n$ , and in consideration of (11) and (12),

$$\sum_{k=0}^{\infty} (k+m)w_{k+m} z^k = \frac{m+1}{2(m-1)} \sum_{k=0}^{\infty} \left( \sum_{j=0}^k |c_{k-j}| w_j \right) z^k = \frac{m+1}{2(m-1)} \widehat{P}(z) F(z),$$

where  $\widehat{P}(z) = \sum_{j=0}^n |c_j| z^j$ . Hence,

$$(13) \quad F'(z) = \sum_{j=1}^{m-1} jw_j z^{j-1} + z^{m-1} \frac{m+1}{2(m-1)} \widehat{P}(z) F(z) \quad (F(0) = w_0).$$

Let  $z = re^{i\theta}$  for a fixed  $\theta \in [0, 2\pi)$  and  $f(r) = F(re^{i\theta})$ , thus (13) yields

$$e^{-i\theta} \frac{df(r)}{dr} = \sum_{j=1}^{m-1} jw_j r^{j-1} e^{i\theta(j-1)} + r^{m-1} e^{i\theta(m-1)} \frac{m+1}{2(m-1)} \widehat{P}(re^{i\theta}) f(r) \quad (f(0) = w_0),$$

and therefore,

$$|f(r)| \leq \sum_{j=0}^{m-1} w_j r^j + \frac{m+1}{2(m-1)} \int_0^r s^{m-1} |\widehat{P}(se^{i\theta})| f(s) ds.$$

By the Gronwall lemma,

$$|f(r)| \leq \sum_{j=0}^{m-1} w_j r^j \cdot \frac{m+1}{2(m-1)} \exp \left[ \int_0^r s^{m-1} |\widehat{P}(se^{i\theta})| ds \right].$$

But

$$\begin{aligned} \int_0^1 s^{m-1} |\widehat{P}(se^{i\theta})| ds &\leq \int_0^1 \sum_{j=0}^n |c_j| s^{j+m-1} ds \\ &= \sum_{j=0}^n |c_j| \int_0^1 s^{j+m-1} ds \\ &= \sum_{j=0}^n \frac{1}{j+m} |c_j|, \end{aligned}$$

and thus we get that

$$\max_{|z|=1} |F(z)| \leq \max_{r=1} |f(r)| \leq \frac{m+1}{2(m-1)} \sum_{j=0}^{m-1} w_j \cdot \mu(P),$$

where

$$\mu(P) := \exp \left[ \sum_{j=0}^n \frac{|c_j|}{j+m} \right].$$

By making use of the Parseval equality,

$$\sum_{k=0}^{\infty} w_k^2 = \frac{1}{2\pi} \int_0^{2\pi} |F(e^{i\theta})|^2 d\theta \leq \max_{|z|=1} |F(z)|^2 \leq \left( \sum_{j=0}^{m-1} w_j \right)^2 \cdot \frac{(m+1)^2}{4(m-1)^2} \mu^2(P).$$

Recall that  $|u_j| = \frac{|\nu_j|}{(j!)^\gamma} = \frac{w_j}{(j!)^\gamma}$  ( $j = 0, 1, \dots, m-1$ ), where  $\gamma = \frac{1}{n+m}$ . In view of  $|\nu_k| \leq w_k$ , we get the required inequality

$$\sum_{k=0}^{\infty} |\nu_k|^2 \leq \left( \sum_{k=0}^{m-1} |u_k| (k!)^\gamma \right)^2 \cdot \frac{(m+1)^2}{4(m-1)^2} \mu^2(P).$$

□

### 3. PROOF OF THEOREM 1.1

Let  $u = \sum_{k=0}^{\infty} u_k z^k$  be a solution of (2) such that  $u_0 = u(0) \neq 0$ . Under the assumption of  $n \geq m-1 \geq 1$ , by Lemma 2.2 we get that

$$u(z) = \sum_{k=0}^{\infty} \frac{\nu_k z^k}{n+m\sqrt{k!}},$$

where the numbers  $\nu_k$ ,  $k = 0, 1, \dots$  satisfy the condition

$$\sum_{k=0}^{\infty} |\nu_k|^2 \leq \left( \sum_{k=0}^{m-1} |u_k|^{n+m\sqrt{k!}} \right)^2 \cdot \frac{(m+1)^2}{4(m-1)^2} \mu^2(P).$$

Put  $f(z) := \frac{u(z)}{u_0}$ . Then  $f(0) = 1$ ,  $f(z) = \sum_{k=0}^{\infty} \frac{\nu_k z^k}{u_0^{n+m\sqrt{k!}}}$ , and

$$\left[ \sum_{k=1}^{\infty} \left| \frac{\nu_k}{u_0} \right|^2 \right]^{\frac{1}{2}} \leq \left[ \left( \sum_{k=0}^{m-1} \left| \frac{u_k}{u_0} \right|^{n+m\sqrt{k!}} \right)^2 \cdot \frac{(m+1)^2}{4(m-1)^2} \mu^2(P) - 1 \right]^{\frac{1}{2}} < \infty.$$

Hence, by Lemma 2.1,

$$\begin{aligned} \sum_{k=1}^j \frac{1}{|z_k(u)|} &= \sum_{k=1}^j \frac{1}{|z_k(f)|} \\ &\leq \left[ \left( \sum_{k=0}^{m-1} \left| \frac{u_k}{u_0} \right|^{n+m\sqrt{k!}} \right)^2 \cdot \frac{(m+1)^2}{4(m-1)^2} \mu^2(P) - 1 \right]^{\frac{1}{2}} + \sum_{k=1}^j \frac{1}{n+m\sqrt{k+1}} \end{aligned}$$

holds for  $j = 1, 2, \dots$



**Acknowledgement.** The authors would like to thank the referee for making valuable comments.

#### REFERENCES

- [1] S. Bank and I. Laine, On the oscillation theory of  $f'' + Af = 0$  where  $A$  is entire, *Tran. Amer. Math. Soc.* 273(1982), No. 1, 351-363.
- [2] B. Belaïdi and A. E. Farissi, Differential polynomials generated by some complex linear differential equations with meromorphic coefficients, *Glasnik Matematički* 43(2008), No.2, 363-373.
- [3] T. B. Cao and L. M. Li, Oscillation results on meromorphic solutions of second order differential equations in the complex plane, *E. J. Qualitative Theory of Diff. Equ.* 2010, No. 68, 1-13.
- [4] T. B. Cao, J. F. Xu and Z. X. Chen, On the meromorphic solutions of linear differential equations on the complex plane, *J. Math. Anal. Appl.* 364(2010), No. 1, 130-142.
- [5] W. J. Chen and J. F. Xu, Growth of meromorphic solutions of higher-order linear differential equations, *E. J. Qualitative Theory of Diff. Equ.* 2009, No. 1, 1-13.
- [6] A. E. Farissi and B. Belaïdi, On oscillation theorems for differential polynomials, *E. J. Qualitative Theory of Diff. Equ.* 2009, No. 22, 1-10.
- [7] M. I. Gil', Inequalities for zeros of entire functions, *J. Inequal.* 6(2001), 463-471.
- [8] M. I. Gil', Difference equations in normed spaces. Stability and oscillations. *Mathematics Studies*, vol. 206, North-Holland. Elsevier, Amsterdam, 2007.
- [9] M. I. Gil', Localization and Perturbation of Zeros of Entire Functions, CRC Press, Taylor and Francis Group, New York, 2009.
- [10] M. I. Gil', Bounds for zeros of solutions of second order differential equations with polynomial coefficients, *Results. Math.* 59(2011), 115-124.
- [11] I. Laine, Nevanlinna Theory and Complex Differential Equations, Walter de Gruyter, Berlin, 1993.
- [12] F. Peng and Z. X. Chen, On the growth of solutions of some second-order linear differential equations, *J. Ineq. Appl.* 2011(2011), 1-9.
- [13] J. Tu and Z. X. Chen, Zeros of solutions of certain second order linear differential equation, *J. Math. Anal. Appl.* 332(2007), No. 1, 279-291.
- [14] J. Wang and I. Laine, Growth of solutions of second order linear differential equations, *J. Math. Anal. Appl.* 342(2008), 39-51.
- [15] H. Wittich, Eindeutige Lösungen der Differentialgleichung  $w' = R(z, w)$ , *Math. Z.* 74(1960), 278-288.
- [16] J. F. Xu and H. X. Yi, Solutions of higher order linear differential equations in an angle, *Appl. Math. Letters* 22(2009), No. 4, 484-489.

(Received June 28, 2011)

(Ting-Bin CAO) DEPARTMENT OF MATHEMATICS, NANCHANG UNIVERSITY, NANCHANG, JIANGXI 330031, CHINA

*E-mail address:* `tbcao@ncu.edu.cn` (the corresponding author)

(Kai LIU) DEPARTMENT OF MATHEMATICS, NANCHANG UNIVERSITY, NANCHANG, JIANGXI 330031, CHINA

*E-mail address:* `liukai418@126.com`

(Hong-Yan XU) JINGDEZHEN CERAMIC INSTITUTE DEPARTMENT OF INFORMATICS AND ENGINEERING JINGDEZHEN, JIANGXI 333403, CHINA

*E-mail address:* `xhyhhh@126.com`